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3) 49 49
aat 125
600V _CV 38sg-3C m 125.0 | (2 16 16
3) 49 49
aat 125
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IR B = # Hti| &8 &8 | B | &t "
BDENS VD SM48/WBATSZPENH m 373.8 | & 373.8 373.8
FCPEV-S 0. 65-20P m 373.8 | i# 373.8 373.8
600V _CV 38sg-3C m 373.8 | & 373.8 3173.8
OERZYY SM48/WB4TSZPENH m 65.0 | 05 |#T3&E| 65 65
FCPEV-S 0. 65-20P m 65.0 | 05 |#T3&| 65 65
600V _CV 38sg-3C m 65.0 | 05 |#T3&| 65 65
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-] B =® 5 By | 8B | E it -
. EHT EC 1B 29.0 ET 1 7
50 9 15
ITV 5 1
&t 2
ED 1 32.0 HH 5+5+6+3+3+1+5+1+3 32
4 HEHT
) EE SM48/WB4TSZPENH ANzl 2.0 2 2
FCPEV-S 0. 65-20P HFr 2.0 2 2
600V CV 38sq-3C Pl 2.0 2 2
(2) 7l SM48,/WB4TSZPENH~ SM8,/WBATPENH L 6.0 | 2748 | ITV | 6 6
SM12/WB4TPENH+CCP-AP 0. 65-10P ~ SM8,/WB4TPENH Pl 1.0 | g | ITV | 1 1
SM12/WB4TPENH+CCP-AP 0. 65-10P~FCPEV-S 0.65-5P | A FfF 1.0 | B4R |FanT| 1 1
SM48,/WB4TSZPENH~ SM4,/WBATPENH L 2.0 | B8R | "ZE | 1 1
| TC |1 1
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- | B = Bl 8 8 | B | E it =1
FCPEV-S 0. 65-20P, 20P, 20P paliin 6.0 | E748 ET 6 6
FCPEV-S 0. 65-20P, 20P, 10P paliin 5.0 | 8748 | FEE | b 5
600V CV 38sq-3C HEr 20.0 | E¢48 | 3wk | 20 20
600V CV 8sg-3C ki 4.0 | o | wmEK | 4
600V CV 3.5sg-3C AR 3.0 | ol | dimEk | 3
5. 47— TIVHET SM48 Ji#SCaRy 42—} valiii 2.0 1+1
SM12 FriSCash{ta-p ki 2.0 1+1
SM8 K iuwSCarya{ta-+ ki 9.0 | BpiR ITV | 742
SM4 B 8#SCa%hhfta-1 HFR 20 | B | 551
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- | B =+ ' Bl LE | B | & it =1
6.5t & —J L EER {Ei% AL FER 460 (BOCLLT) b1 4.0 |i#ie| B ifiiE | 2+2
{miEiE R ER 120 (20CLLF) palCl 3.0 | 2848 |ITV AL] 1+2
fEEi8% B 8C(20CLLTF) palc) 14.0 [ & | 1TV [ 2¢7
{EE18£ B8 4C (20CLLTF) palc) 40 | 88 | 85 | 1%
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i} B = : Bl 8 8 | B | E &t =1
. WEE
| FEEET
(D yb-2)-7912 A GPEV-S 0. 9-30P m 5.0 | 1838 5 5
Q) #hhERN GPEV-S 0. 9-30P m 673.0 | 1E3A AL 38+225+155+10+178+52+15 673
CPEV-S 0. 9-5P m 764.0 | &8 AL 18+40+104+86+54+8+12+10+100+82+67+84+95+4 764
Q) BHNENRN GPEV-S 0. 9-5P m 456.0 | B8 AL 33+415+(8) 456
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NO PS-SC PS-SC PS-SC PS-SC PS-SC PS-SC PS-SC PS-SC VE-FEP VE-FEP VE-FEP VE-FEP VE-FEP VE-FEP VE-FEP VE-FEP
10-12% 9 &HA 7-8 %A 5-6 & 4 %A 3 &H 2 & 1 %M 10-125&H 9 &HA 7-8 &M 5-6 M 4 &H 3 &H 2 & 1 &
TYHRME
(1) 17
2 2 1 15
(3) 2 2 22 2
(4) 1 8 1
(5) 1 10 2
(6) 1 1 14 2
@) 1 8
(8) 1 1 9 2
(9) 3 20 2
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(a1
L VR4
(1)
(2) 3
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(4)
(5) 5
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9 1
(10) 1 6
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TYR1EI
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